
chapter 15520

In the next example we will look at a DAG with an unobserved confounder .

Example 15.4 (cont)
The DAG in Figure 15.13 has two paths from A to Y, listed in Table 15.4.

The effect of A on Y is biased because path 2 is non-causal and open. The path

is open since we have conditioned on the collider S, by only including a stra-

tum of S. Note that if we had included in the study those who had stopped

working in the smelter due to symptoms caused by dust and heat exposure,

we would no longer be conditioning on the collider S, since both strata would

be included in the analysis and the biasing path would be closed.

Example 15.6
Consider an analysis of the effect of statin use on coronary heart disease.

Cholesterol level L is affected by the exposure A and affects the risk for cor-

onary heart disease Y. There is also an unmeasured variable U, representing

lifestyle, which affects both cholesterol levels L and the risk of coronary

heart disease Y (See the DAG in Figure 15.15).

Figure 15.15 A causal DAG for statin use A and coronary heart disease Y, with
cholesterol L and an unmeasured lifestyle variable U .

In this DAG, there are only three possible paths from exposure A to out-

come Y, listed in Table 15.5. Path 1 has only one arrow, and thereby only one

direction, hence it is causal. The path contains no colliders, hence it is open.

Table 15.4 The two paths from A to Y in the DAG from Figure 15.13, illustrating 
the healthy worker effect.

Path Type Status

1 A → Y Causal Open

2 A →  ← L → Y Non-causal OpenS
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Lifestyle
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Cholesterol
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